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Special credit will be given for precise and correct
answer. Marks will be deducted for spelling mistakes,
untidiness and illegible handwriting. The figures in the
margin indicate full marks.

Part - I
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Part - II
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AP @6 AHF &g | 20 x 1 =20
9. fufiiR® vl (@ X Ltd.-97 F5v oz [t

AVS P

Balance Sheet of X Ltd.

Liabilities 31.3.2015 31.3.2016 Assets 31.3.2015 31.3.2016
Rs. Rs. Rs. Rs.
Share Capital 4,60,000 4,60,000 Land &
Profit & Loss A/c 32,000 46,000 Building 3,00,000 3,00,000
Reserve 1,20,000 1,20,000 Machinery 1,04,000 1,40,000
8% Debentures 1,80,000 1,40,000 Investments 2,20,000 1,48,000
Depreciation Fund 80,000 88,000 Stock 1,64,000 2,12,000
Creditors 2,06,000 1,92,000 | Debtors 1,34,000 86,000
Outstanding Cash 1,80,000 1,80,000
Expenses 26,000 24,000 Prepaid
Expenses 2,000 4,000
11,04,000 10,70,000 11,04,000 10,70,000
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(i) 10% Dividend was paid during 2015-16.

(i) Machinery for Rs. 6,000 was purchased
and old machinery costing Rs. 24,000
(accumulated depreciation Rs. 12,000) was
sold for Rs. 8,000.

(i) Rs. 40,000, 8% Debentures were redeemed
by purchase from open market at Rs. 96 for
a debenture of Rs. 100.

(iv) Investments worth Rs. 72,000 were sold at
book value. 20

e w@feT (@ Trading A/c, Profit & Loss

A/c, Balance Sheet Al T

Current ratio — 2-1: 1

Liquid ratio — 1-7 : 1

Gross profit ratio — 16%

Net profit ratio — 7%

Debtors turnover — 6 times

Creditors turnover — 5-6 times

Proprietor's fund to equity share capital — 1:2 : 1

Working capital — Rs. 1,44,000

Equity share capital 65000 shares of Rs.10 each.
6+6+8

et — ©
Q- 96 oeew Teq v 12 x 2 = 24

a6 FRAM TN 50% FAO! IR FACQ @%
10000 BTG o) Teow FHCR| AWM F
Rs. 90 p.u. IR em 7l 6 (e =97

Rs.
Material 60
Labour 10
Factory overheads 12 (Rs. 8 fixed)
Administrative overheads 8 (Rs. 4 fixed)
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12.

13.

14.

15.
16.

IO selling price 21 Rs. 140 p.u.

At 60% capacity, material cost p.u. increases by
5% and selling price falls by 5%.

At 80% capacity, material cost p.u. increases by
10% and selling price falls by 10%.

60% & 80% TG IRIFF BE @b TN SO
(Flexible Budget) &TO FP @R AP {frsTe

i 35 | 10 + 2
a3 @ e sref e == -

Year Units Total Cost (Rs.) Sales volume (Rs.)
2015 40000 3,20,000 4,00,000
2016 48000 3,60,000 4,80,000

IERERE S (@) Fixed overhead, (b) P/V ratio
and (c) Break-even point. 12

(a) MRS BIpl 1Y : [y fefess Qmee |
(b) ST NG FIFCER ARl sT SET
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5 |
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2123y PR | 6+6
Tett — 5

AP @ etad Teqt i1 6x1=6
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English Version

Part - I
( Auditing )
Group - A
Answer any one question. 20 x 1 =20

(a) Can a statutory auditor depend on an
internal auditor ? Discuss.

(b) Prepare an internal control questionnaire of
sales transactions under 'Sale or Return'

basis. 10 + 10
(@) What do you mean by Unclaimed
Dividend ?

(b) Discuss the duties of a company auditor
with respect to declaration and payment of
dividend. 4+ 16

Group - B
Answer any two questions. 12 x2 =24

Discuss the provisions of Companies Act in

respect of depreciation. 12

What is the difference between verification and

valuation of assets and liabilities ? How will an

auditor verify the following items ?

(a) Contingent Assets and (b) Debentures.

4+(4+4)

Discuss the provisions of Companies Act with

respect to the appointment of a company auditor.

12

Discuss the liabilities of an auditor for
misfeasance as per Companies Act. 12
B.Com.-AU-6079 [ st s1oT wey

QP Code : 18UA76ECOS8 2

Group - C
Answer any one question. 6x1=6
Write a short note on Audit Note Book. 6
Discuss the advantages and disadvantages of
Routine checking. 6

Part - II
(Management Accounting)
Group - D

Answer any one question.

20x1=20

9. Prepare a Cash Flow Statement of X Ltd. from
the following :

Balance Sheet of X Ltd.

Liabilities 31.3.2015 31.3.2016 Assets 31.3.2015 31.3.2016
Rs. Rs. Rs. Rs.
Share Capital 4,60,000 4,60,000 Land &
Profit & Loss A/c 32,000 46,000 Building 3,00,000 3,00,000
Reserve 1,20,000 1,20,000 Machinery 1,04,000 1,40,000
8% Debentures 1,80,000 1,40,000 Investments 2,20,000 1,48,000
Depreciation Fund 80,000 88,000 Stock 1,64,000 2,12,000
Creditors 2,06,000 1,92,000 | Debtors 1,34,000 86,000
Outstanding Cash 1,80,000 1,80,000
Expenses 26,000 24,000 Prepaid
Expenses 2,000 4,000
11,04,000 10,70,000 11,04,000 10,70,000

Additional information :

() 10% Dividend was paid during 2015-16.

(i) Machinery for Rs. 6,000 was purchased
and old machinery costing Rs. 24,000
(accumulated depreciation Rs. 12,000) was
sold for Rs. 8,000.

(iii) Rs. 40,000, 8% Debentures were redeemed
by purchase from open market at Rs. 96 for
a debenture of Rs. 100.

(iv) Investments worth Rs. 72,000 were sold at
book value. 20
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Prepare Trading A/c, Profit & Loss A/c and

Balance Sheet from the following information :

Current ratio —2-1: 1

Liquid ratio — 1-7 : 1

Gross profit ratio — 16%

Net profit ratio — 7%

Debtors turnover — 6 times

Creditors turnover — 5-6 times

Proprietor's fund to equity share capital — 12 : 1

Working capital — Rs. 1,44,000

Equity share capital 65000 shares of Rs.10 each.

6+6+8
Group - E

Answer any two questions. 12 x 2 =24

A factory is currently running at 50%

capacity and produces 10000 units at a cost of
Rs. 90 p.u. as per details below :

Rs.
Material 60
Labour 10
Factory overheads 12 (Rs. 8 fixed)
Administrative overheads 8 (Rs. 4 fixed)

The current selling price is Rs. 140 p.u.

At 60% capacity, material cost p.u. increases by
5% and selling price p.u. falls by 5%.

At 80% capacity, material cost p.u. increases by
10% and selling price p.u. falls by 10%.

Prepare a Flexible Budget and estimate the profit
at 60% and 80% capacity. 10+ 2
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12.

13.

14.

15.

16.

—

You are supplied with the following information
relating to a Co. :
Year Units Total Cost (Rs.) Sales volume (Rs.)

2015 40000  3,20,000 4,00,000
2016 48000  3,60,000 4,80,000
Calculate : (a) Fixed overhead, (b) P/V ratio and
(c) Break-even point. 12

(a) Write a short note on Zero Base Budget.
(b) Discuss the limitations of budgetary
control. 6+6
(a) Discuss the Balance Sheet concept of
working capital.
(b) Distinguish between Fund Flow Statement
and Cash Flow Statement. 6+6
Group - F
Answer any one question. 6x1=6
Write a short note on Components of working
capital. 6
Discuss the need for ratio analysis. 6
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